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Q
Q, )\‘ .
< d »|
1.0 |- C
D _
c
A é —
h

«

»

(4-1-3-5-20)

(2-2-3-6) (1-2-3-6)

(3-2-3-6)

\
. b
a
C
B
D e
0 A
(
- (1-6)
-3-1-3-6
(4-7-10)
-2-3-6
(4-2) « »
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Qce « »

(5-6) (4-6)

(4_2) QcL

«

(DCR)
3-6

»

-1-2-3-6

(2-4-2)

1/15

-2-2-3-6

-3-2-3-6

(1-3-2)



(3-6)
DCR
2
4 2
4
Pue
Mo (2-1-1-4-3)
(1-1-1-4-3)
2
Mo, M UDy <1
M,KM e, myKM e,
Pur X
Pue y
Pur X
Pue y
X

144

-3-3-6

(5-3-6)



145 -

-1-3-3-6
0/0035
0/02
0/05
-4-3-6
( )
( )
%50
-1
-2
(13-12)
(dry-pack)
%70 U
-5-3-6

(3-2-3-6) 1



1
fo= %fy
17.2
fo= =1 <f
=g sty
) L
fs (
2 DCR

(2-6)
f, ot 1,
f,
02, f. 2
()
(3-6) 3d,
( )
) fy | ) d,
f, f,
fS
0/2f,

DCR

146
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21,

»

« »

2-2-2-18

10d, 1 -2-5

41,

(Post Installed) «

«

«

«

«

(6-3-6)

-6-3-6

»  (Cast-in-place) «

» -1-6-3-6

» -2-6-3-6

»

»

-7-3-6



(6-3-6)

(4-4-6) (1-4-6)

(4-4-6)

148

~4-6

(5-6) (4-6)

-1-4-6

-1-1-4-6

(3-4-6) (2-4-6)

-1-1-1-4-6



149 -

- -2-1-1-4-6

- -3-1-1-4-6

- -2-1-4-6

-1-2-1-4-6

(3-1-3-6)



150

(6-6) (4-6)

(4-2-1-4-6)

-2-2-1-4-6

-1-2-2-1-4 -6

(3-1-3-6)
(2-1-3-6)

-2-2-2-1-4-6

(2-1-3

(2-3-6) _

(1-6) . (3-2-1-4-6)

(chord rotation)

-3-2-2-1-4-6

-3-2-1-4-6
(2-3-6)



151 -

-1-3-2-1-4-6
V, .
(3-1-3-12) : ()
(3-2-3-12) (2-2-3-12)
-1
0/85 -2
0/7 -3
3
(1-3)
(18-3)
(1-1-4-3)
(5-5-20) (3-1-4-5-20) -
A
(2 (2):
3
-4-2-1-4-6
-1-4-2-1-4-6
( ) : (4-2)



152

mo (2-1-4-3)
(20-3) (19-3) . (6-6) (4-6)

DCR DCR

DCR -1

-2-4-2-1-4-6
(2-4-3)
(9-6) - - (8-6) (7-6)

-5-2-1-4-6

(7-3-6)



153

(1-2-1-4-6)
(1-2-1-4-6)
(2-2-2-1-4-6)

(2-2-1-4-6)

- -3-1-4-6
-1-3-1-4-6
3
foe -1
fe 517 N
12 mm?
-2
-3
-2-3-1-4-6
-1-2-3-1-4-6
(3-1-3-6)
(2-1-3-6)
-2-2-3-1-4-6
(2-1-3-6) -
(1-6) D BC
(1-3-1-4-6)
(7-6)



- e

-3-2-3-1-4-6

~3-3-1-4-6
(3-2-1-4-6) (2-3-6)

-4-3-1-4-6

(4-2-1-4-6) -
(9-6) (4-6)

-5-3-1-4-6

(7-3-6)



155

(4-6)
CcP LS cP LS 10
2
v p-p'
de\/E Ve P
10 6 7 6 3 <3 C <0/0
5 3 4 3 2 =6 C <0/0
5 3 4 3 2 <3 C >0/5
4 2 3 2 2 =6 C >0/5
5 3 4 3 2 <3 NC <0/0
4 2 3 2 1/25 =6 NC <0/0
4 3 3 3 2 <3 NC >0/5
3 2 2 2 1/25 =6 NC >0/5
2
4 3 1/75 15 1/25 <d/2
3 2 1/75 15 1/25 >d/2
2
4 3 1/75 15 1/25 <d/2
3 2 1/75 15 1/25 >d/2
2 —
4 3 3 2 2
-1
O 0O0)C) -2
(Nonconforming) (Conforming) «NC»  «C» -3
d
3
3
(o @ W



156

:(5-6)
CcP LS CcP LS 10
2
V_ o2V 3 P
budyfe Ve Agf.
5 4 4 3 2 <3 C <0/1
4 312 312 2/4 2 =6 C <0/1
4 3 3 2 1/25 <3 C >0/4
312 2/4 2/4 1/6 1/25 =6 C >0/4
3 2 3 2 2 <3 NC <0/1
2/4 1/6 2/4 1/6 2 =6 NC <0/1
2 15 2 15 1/25 <3 NC >0/4
1/6 1 1/75 15 1/25 =6 NC >0/4
4 2 _
3 ) P <01 <d/2
Agfg
2 15 -—-- -—— -—--
42 _
4 3 175 1/5 1/25 <d/2
3 2 -—— -—-- -—-- >d/2
‘2 0/70P, -
2 2 2 1 1
1 1 -—-- -—— -——
-1
O 0O0)C) -2
(Nonconforming) (Conforming) «NC»  «C» -3
d
3
3
(N © W
-4



157

- - (6-6)
'm
cP LS cP LS 10
3
v 4 P
A Agfe
4 3 —— ———- - <12 C <01
3 2 N J— - >1/5 C <01
4 3 B [— -—- <112 C > 0/4
3 ) — —— — >1/5 C >0/4
3 2 —— ——- —— <112 NC <0n
3 2 N J— - >1/5 NC <01
3 2 I ——— <12 NC >0/4
3 2 ——- —— — >1/5 NC >0/4
5 3
v 4 P
Vn Agfc
4 3 N ———- <12 C <0/1
3 2 ——- ——-- — >1/5 C <01
4 3 NI -—-- <1/2 C 20/4
3 2 N J— - >1/5 C 20/4
3 2 - —— ——- <1P NC <01
3 2 ——- —— — >1/5 NC <0n
2 1/5 e ---- <12 NC >0/4
2 1/5 e ---- >1/5 NC >0/4
-1
m -2
Aq -3
(Nonconforming) (Conforming) «NC»  «C» -4
d
3
(NC) (© (Ve)
(3-2-1-4-6) Vo5



158

- (7-6)
i T
cP LS CP LS 10 c b a
2
v__av, :
bydyfe Ve |3 Aqfe
0/05 | 0/02 0/025 0/02 | 0/010 0/2 0/05 | 0/025 <3 C <0/0
0/04 | 0/02 0/02 0/01 | 0/005 0/2 0/04 0/02 =6 C <0/0
0/03 | 0/02 0/02 0/01 | 0/005 0/2 0/03 0/02 <3 C >0/5
0/02 | 0/015 0/015 0/005 | 0/005 0/2 0/02 | 0/015 >6 C >0/5
0/03 | 0/02 0/02 0/01 | 0/005 0/2 0/03 0/02 <3 NC <0/0
0/015 | 0/01 0/01 0/005 | 0/0015 0/2 0/015 | 0/01 =6 NC <0/0
0/015 | 0/01 0/01 0/01 | 0/005 0/2 0/015 | 0/01 <3 NC >0/5
0/01 | 0/005 0/005 0/005 | 0/0015 0/2 0/01 | 0/005 >6 NC >0/5
2 -
0/02 0/01 0/0030 | 0/0020 | 0/0015 02 0/02 | 0/0030 <d/2
0/01 | 0/005 0/0030 | 0/0020 | 0/0015 012 0/01 | 0/0030 >d/2
2 -
0/02 | 0/01 0/0030 | 0/0020 | 0/0015 0/0 0/02 | 0/0030 <d/2
0/01 | 0/005 | 0/0030 | 0/0020 | 0/0015 0/0 0/01 | 0/0030 >d/2
0/03 | 0/02 0/015 0/01 0/01 0/2 0/03 | 0/015
-1
O 0O0)C) -2
(Nonconforming) (Conforming) «NC»  «C» -3
d
3
(NC) © n (Vs)
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- (8-6)
1 1
CP LS CP LS 10 c b a
2 _
v_ v, P
budyfe Ve S Aqfe
0/03 | 0/02 0/02 0/015 | 0/005 0/2 0/03 | 0/02 <3 C <0/1
0/024 | 0/016 0/016 0/012 | 0/005 0/2 0/024 | 0/016 =6 C <0/1
0/025 | 0/018 0/015 0/012 | 0/003 0/2 0/025 | 0/015 <3 C >0/4
0/02 | 0/013 0/012 0/01 | 0/003 0/2 0/02 | 0/012 =6 C >0/4
0/015 | 0/01 0/006 0/005 | 0/500 0/2 0/015 | 0/006 <3 NC <0/1
0/012 | 0/008 0/005 0/004 | 0/005 0/2 0/012 | 0/005 =6 NC <0/1
0/01 | 0/006 0/003 0/002 | 0/002 0/2 0/01 | 0/003 <3 NC >0/4
0/008 | 0/005 0/002 0/002 | 0/002 0/2 0/008 | 0/002 =6 NC >0/4
5,2 -
0/0040 | 0/0030 | ---- 4
5,2 -
0/02 0/01 0/01 0/005 0/005 0/4 0/02 0/01 <d/2
0/01 0/005 0/0 0/0 0/0 0/2 0/01 0/0 >d/2
52 0/70P, -
0/02 0/01 0/01 0/005 0/0 0/02 | 0/025 | 0/015
0/0 0/0 0/0 0/0 0/0 0/0 0/0 0/0
-1
O 0C)C) -2
(Nonconforming) (Conforming) «NC»  «C» -3
3 d
Z (Vs) E
(NQ) ©
(2-4-2-1-4-6) -4
-5



- - :(9-6)
i i
ce [ Ls| ce [ Ls | 10 c b a

42 —

2 V. 3 P
v, Agfe
0/03 0/02 0/0 0/0 0/0 012 0/03 | 0/015 <12 C <o0n
0/02 | 0/015 0/0 0/0 0/0 012 0/03 | 0/015 = 1/5 C <01
0/025 | 0/015 0/0 0/0 0/0 0/2 0/025 | 0/015 <12 C >0/4
0/02 0/015 0/0 0/0 0/0 0/2 0/02 | 0/015 >1/5 C >0/4
0/02 0/015 0/0 0/0 0/0 0/2 0/02 | 0/015 <12 NC <01
0/015 | 0/01 0/0 0/0 0/0 012 0/015 | 0/015 = 1/5 NC <on
0/015 | 0/01 0/0 0/0 0/0 012 0/015 | 0/015 <12 NC =0/4
0/015 0/01 0/0 0/0 0/0 0/2 0/015 | 0/015 > 1/5 NC >0/4
42 i

2 V. 3 P
vV, Aqfe
0/02 | 0/015 0/0 0/0 0/0 012 0/02 | 0/01 <12 C <0/1
0/015 0/01 0/0 0/0 0/0 0/2 0/015 0/01 > 1/5 C <01
0/02 0/015 0/0 0/0 0/0 0/2 0/02 0/01 <12 C >0/4
0/015 | 0/01 0/0 0/0 0/0 012 0/015 | 0/01 > 1/5 C >0/4
0/01 | 0/0075 0/0 0/0 0/0 012 0/01 | 0/005 <12 NC <01
0/01 | 0/0075 0/0 0/0 0/0 0/2 0/01 0/005 > 1/5 NC <01
0/0075 | 0/005 0/0 0/0 0/0 -—- 0/0 0/0 <12 NC >0/4
0/0075 | 0/005 0/0 0/0 0/0 -—- 0/0 0/0 > 15 NC >0/4

(3-2-1-4-6) . v v

(Nonconforming) (Conforming) «NC»  «C»
d
3
(NO) . © : (V)
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- ~4-1-4-6

-1-4-1-4-6

-2-4-1-4-6

~1-2-4-1-4-6

(2-1-3-6)

-2-2-4-1-4-6

(2-1-3-6) -



162

(2-2-2-1-4-6) (1-6) -

(2-3-6) _
(1-6) . (3-4-1-4-6)
(1-6) (8-6)
(11-6) -

-3-2-4-1-4-6

- (3-2-2-1-4-6) (2-3-6)
-3-4-1-4-6

(2-3-6)
M ncs M gcs
M gcs ( 15 ) M ncs
3 Mo
(3-2-1-4-6)
-1

(4-15) (17-12)



163 -

Ys

v ( 2-3-4-15 )

( 3-14-15 )
05V, 075V,
( ) C,
V..
-4-4-1-4-6
-1-4-4-1-4-6
« » « »
(4-2)
(10-6)
DCR 3
1): 3

(10-6) (5-6) (2-1-4-3)
(20-3) (19-3)

DCR DCR

(1-4-2-1-4-6)



(11-6) (8-6)

(7-3-6)

164

-2-4-4-1-4-6

(11-6) (8-6)

-5-4-1-4-6



165

(10-6)

CcP LS cP LS 10
1 -— -—
3 2 Vo
VO
4 3 3 2 2 <0
3 2 1 1 1 >0/4
3 2 3 2 2 <0
1 1 1 1 1 >0/4
1
4 3
4 3 3 2 2

« »

« »
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(11-6)
1
CP LS CP LS 10 c b a
2 —
3 Vo
VO
0/05 | 0/03 0/02 0/015 0/01 0/2 0/05 | 0/02 < 012
0/04 0/03 0/0 0/0 0/0 0/2 0/04 0/0 > 0/4
0/02 | 0/015 0/02 0/015 0/01 0/02 | 0/02 < 02
0/0 0/0 0/0 0/0 0/0 00 | 0/0 > 0/4
2 -
0/02 | o/01 0/0 0/0 0/0 0/0 0/02 | 0/0
2 - -
0/03 | 0/02 0/015 0/01 0/01 0/2 0/03 | 0/015
-1
() () -2
VA vV, -3

« o»

« »



167 -

2-4-6

-1-2-4-6

(Wet concrete) -

-2-2-4-6

~1-2-2-4-6

(1-2-1-4-6)

2-2-2-4-6
- (2-6) . (2-2-1-4-6)



168

-3-2-2-4-6
(3-2-1-4-6)

-4-2-2-4-6
(4-2-1-4-6)
(3-2-1-4-6)

-5-2-2-4-6

(7-3-6)
-3-2-4-6

~1-3-2-4-6
(1-2-1-4-6) -

-2-3-2-4-6
(2-2-1-4-6)

~3-3-2-4-6
(6-4-6) . (3-2-2-4-6)

~4-3-2-4-6
(4-2-2-4-6)
(6-3-6)



169

(7-3-6)

(1-3-2-4-6)

(3-3-2-4-6)

(4-3-2-4-6)

(7-3-6)

5-3-2-4-6

~4-2-4-6

1-4-2-4-6

2-4-2-4-6

3-4-2-4-6

4-4-2-4-6

5-4-2-4-6



170

-3-4-6

-1-3-4-6

-2-3-4-6

-1-2-3-4-6



171 -

-2-2-3-4-6
~1-2-2-3-4-6
(1-2-3-4-6)

(4-4-6) (2-4-6) (1-4-6)
(2-1-3-6)

-2-2-2-3-4-6
(2-2-1-3-6) -

(4-4-6) (2-4-6) (1-4-6)

(1-6) -
2 (1-6)

(16-6)

(13-6)

-3-2-2-3-4-6

-3-2-3-4-6
(2-3-6)



172

-4-2-3-4-6

~1-4-2-3-4-6

m . (2-1-4-3)
( ) (4-4-6) (2-4-6) (1-4-6) 7
(12-6)

« »

2-4-2-3-4-6
(2-4-6) (1-4-6)
. 7 (4-4-6)
(13-6) (2-4-3)
7 (4-4-6) (2-4-6) (1-4-6)
(13-6) (12-6)



173 -

-5-2-3-4-6

(7-3-6)
-3-3-4-6

-1-3-3-4-6

2-3-5-6
-2-3-3-4-6

~1-2-3-3-4-6
(1-2-2-3-4-6) (2-1-3-6)

-2-2-3-3-4-6

(1-6)

(2-2-2-3-4-6)



174

-3-2-3-3-4-6

-3-3-3-4-6

(2-3-6)

(3-2-1-5-6)

-4-3-3-4-6

(1-5-6) (4-2-3-4-6)
(2-5-6)

-5-3-3-4-6

(7-3-6)
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(12-6)

CP LS CP LS 10
5 4 4 3 1
1 1 1 1 1
6 5 5 4 3
4 3 2 2 1
-1
3 -2
4
8d, h
3



176

- :(13-6)
1
CP LS CP LS 10 c b a
0/04 0/03 0/020 0/015 0/003 0/4 0/04 | 0/02 |2
0/01 0/01 0/003 0/002 0/002 0/2 0/01 | 0/003
0/05 0/04 0/04 0/03 0/01 0/0 0/05 | 0/05
0/03 0/02 4 0/2 0/03
4
-1
3 )
4
8d, h
3
: () ) -3
(2-3-6) -4
3 LS CP
4



177 -

-4-4-6
1-4-4-6
(4-4-6)
2-4-4-6
( )
(1-2-1-4-6)
(5-4-4-6)

-3-4-4-6

~1-3-4-4-6

(2-1-3-6)



(2-2-2-3-4-6)

(3-2-1-4-6)

178

2-3-4-4-6
(2-1-3-6) -
(2-2-2-1-4-6)
(3-2-1-4-6) (2-3-6)
(1-6)
(13-6)
~3-3-4-4-6
-4-4-4-6
(2-3-6)
~5-4-4-6
-1-5-4-4-6
(4-2)
(2-1-3-3)



179

(13-6)

(1-5-6)

(4-5-6) (3-5-6)

(2-1-5-6)

(2-1-4-3)

(Wall Segments) «

(7-3-6)

»

-2-5-4-4-6
~6-4-4-6
-5-6
(2-5-6)
-1-5-6
-1-1-5-6
(1-5-6)

(1-4-6)



180

-1-1-1-5-6

(1-3-4-6)
( 'P,) 0/35R,
45cm
45¢cm 0/0025

(3-2-1-5-6)

-2-1-1-5-6
(2-1-5-6)

-3-1-1-5-6
(2-1-5-6) ()

-2-1-5-6

-1-2-1-5-6



181

-2-2-1-5-6
(1-5-6)
(2-6)
(2-6)
-1-2-2-1-5-6
(3-1-3-6) cC I, LT
(2-1-3-6)
-2-2-2-1-5-6
(2-1-3-6) -

(1-6)



182

X (1-6) -
(1-6) B . (2-6)
(4-6) 6,
- “E"yl | (4-6)
( ) M,
E,
o
l
lp
Ip
(16-6) (  1-6) E.D,C c ba

VI D



183

(1-6)

(4-6)

dc

DC

E

(1-6)

(17-6)

-3-2-2-1-5-6

(1-6)

:(4-6)



184

~3-2-1-5-6
(2-3-6)
Mn
B . (4-1-3-5-20)
( 1-6)
1425
( ) ( 1-6) C
3
Vn
(Specified)
(1-6) C B
0/0015 0/0025 P
0/0015

p,,= 0/0015
(5-3-6)

(3-2-1-4-6)



185 -

-4-2-1-5-6

-1-4-2-1-5-6

(4-2)

(2-1-4-3)
(19-3) m  (15-6) (14-6)

2-4-2-1-5-6
(17-6) (16-6)

(2-4-3)
(17-6) (16-6)



186

-5-2-1-5-6

(7-3-6)



187

(14-6)
m
CP LS CP LS 10
shear A -ALl, +P
twl w \/E 1:w I wfc
8 6 6 4 2 <3 <01
6 4 4 3 2 >6 <01
6 4 4 3 15 <3 >0/25
4 25 25 2 125 >6 >0/25
6 4 4 25 2 <3 <01
4 25 25 2 15 >6 <01
3 2 2 15 125 <3 >0/25
2 175 175 15 125 >6 >0/25
2
2 15 1
1 1 1
3
shear 5
tuluyfe
9 6 6 4 2 <3
7 4 4 3 15 >6
8 5 5 3/5 15 <3
4 25 25 18 12 >6
10 7 7 5 2
-1
Ve () < ): « » -2
205 -3
( ) ' « » -4
d
Vs () 3

| w



(15-6)

188

CP LS CP LS 10
3 2 3 2 2 !
shear 3
tulwyfe
6 4 4 3 1/5 <3
3/5 2/5 2/5 2 12 >6
4 3 3 2/5 1/5 <3
2/5 1/5 1/5 12 1/25 >6
-1
5.,
2/5 -2
» -3
d
Vs () 3

| w



189

- :(16-6)
1
2
CP LS CcP LS 10 c b a
shear 5 [AS_A;]fy+P
twlw \/K twlwfc
0/020 0/015 0/015 0/010 0/005 0/75 0/020 | 0/015 <3 <01
0/015 0/010 0/010 0/008 0/004 0/40 0/015 | 0/010 >6 <01
0/012 0/009 0/009 0/006 0/003 0/60 0/012 | 0/009 <3 >0/25
0/010 0/005 0/005 0/003 0/0015 0/30 0/010 | 0/005 >6 >0/25
0/015 0/008 0/008 0/004 0/002 0/60 0/015 | 0/008 <3 <01
0/010 0/006 0/006 0/004 0/002 0/30 0/010 | 0/006 =6 <01
0/005 0/003 0/003 0/002 0/001 0/25 0/005 | 0/003 <3 =>0/25
0/004 0/002 0/002 0/001 0/001 0/20 0/004 | 0/002 =6 >0/25
-—— -—— 0/010 0/007 0/003 0/20 0/015 0/010
-—— -—— 0/0 0/0 0/0 0/0 0/0 0/0
shear
twlwa/ffe ‘
0/050 0/025 0/025 0/02 0/010 0/75 0/050 0/025 <3
0/040 0/020 0/020 0/010 0/005 0/50 0/040 0/02 =6
0/035 0/020 0/020 0/012 0/006 0/50 0/035 0/020 <3
0/025 0/010 0/010 0/008 0/005 0/25 0/025 0/010 >6
0/050 0/030 0/030 0/018 0/006 0/80 0/050 0/030 -———
-1
2/5 -2
- () % ) « » -3



« » -4
d
() 3
3
4
-5
- :(17-6)
1
2
cpP LS CP LS 10 c b a
1/5 0/75 0/75 0/60 0/40 0/40 2/0 0/75 .
3 —_—
shear 5 s
i
0/030 0/020 0/020 0/015 | 0/006 0/60 0/020 | 0/002 <3
0/024 0/016 0/016 0/012 | 0/005 0/30 0/024 | 0/016 =6
0/020 0/010 0/010 0/008 | 0/006 0/40 0/025 | 0/012 <3
0/012 0/007 0/007 0/006 | 0/004 0/20 0/014 | 0/008 =6
4-6 3-6 -1
0/15 A f, -2
5.
2/5 -3
« » -4
d
V —
s () 5
3
4



191 -

-2-5-6

-1-2-5-6

(2-5-6)

1-5-6

‘(tilt=up) -3

2-2-5

-2-2-5-6

-1-2-2-5-6



(2-2-1-5-6)
(1-2-2-1-5-6)
(2-2-1-3-6)
E CB
(3-2-1-5-6)
D-E
()16 X ( )1-6
(2-6 )
(5-6) 6, B
ey
()1-6
DC c b,a

c ba : (16-6)

192

-2-2-2-5-6

(1-6)



193 -

%50 (16-6)
(16-6)
( )1-6 E D,C c ed
%50 (17-6) c ed . (17-6)
(17-6)
(17-6) (16-6)
(1-6)
- (Pinching)
-3-2-2-5-6
(2-3-6)
(3-2-1-5-6)
(1-6) C B (9=1.0)
(3-2-1-5-6)

~4-2-2-5-6



(17-6) (16-6)

(17-6) (16-6)

194

-5-2-2-5-6

(4-2-1-5-6)
(4-2-1-5-6)
1450 (15-6) (14-6)

(17-6) (16-6)

-6-2-2-5-6

(7-3-6)



195 -

-3-5-6

-1-3-5-6

(2-9-5)

-1-1-3-5-6

-2-1-3-5-6

-3-1-3-5-6

-2-3-5-6

-1-2-3-5-6

2800 6



(14-6)

196

2-2-3-5-6
(1-2-3-5-6)

2800 6

~3-2-3-5-6
(2-3-6)

(3-2-1-5
~4-2-3-5-6
(4-2-1-5-6)

(19-3) (15-6)
(4-2-1-4-6)

-3-3-5-6

(7-3-6)
~4-5-6

-1-4-5-6



197 -

-2-4-5-6
(2-2-3-5-6)
(3-2-3-5-6)
CP LS 10 15 1/25 1 m
~3-4-5-6
(7-3-6)
-5-5-6
~1-5-5-6

(5-5-6)

(5-5-6)
(5-5-6)

-1-1-5-5-6



(2-1-2-4-4)

(2-4-4)

198

-2-1-5-5-6

-2-5-5-6

15



199

1/25

-3-5-5-6

-4-5-5-6

(7-3-6)












203

-1-7

2-7

~1-2-7

-2-2-7

2800

-3-7



(2-5-7)

(2-6-7) (1-6-7)

(6-7-7)

(2-7)

(1-5-7)

204

1-4-7

-2-4-7

-3-4-7

~4-4-7

-5-4-7

-5-7

~1-5-7

-1-1-5-7



205

-2-1-5-7

-3-1-5-7
































































































































































































































































































(1)
(2)







*1

72

A-2

A-1

C-3

B-1

A-1

C-2

B-1

B-1

C-4

B-2

C-3

B-2

C-3

300

C-3

B-2

5-1







12

|-

w |~

|-

w | N







http://tec.mporg.ir









-

-1

bl

-




=1

0 ° (DESIGN CONDITIONS)
0 0 D 0
T
T T
0 0 0 0 0 0
T
0 0
1 1
T
1
0 0
0o 0
0 0 o0 0 ()
0 -
® ® -
()




.C.U

-1
T




«




ETM




(GIS)




Islamic Republic of Iran
Management and Planning Organization

Instruction for Seismic Rehabilitation
of Existing Buildings

No. 360

Management and Planning Organization

Office of Deputy for Technical Affairs

Technical Criteria Codification & Earthquake Risk
Reduction Affairs Bureau

http://tec.mporg.ir

2007



«

»





